PUNJAB EXAMINATION COMMISSION
EXAMINATION 2016, GRADE 5 Model Paper
MATHEMATICS PART - A (Objective Type) 2

Part-A = 50 Marks, Part-B = 50 Marks, Total Marks = 100
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General Instructions: Ny
1) Students are advised to choose one correct answer to every question.
WSzl L LS e dededadu® M
2) Read each question carefully before answering.
Aoy ke i Sy
3) Encircle the correct option of MCQ with a Black /Blue ink.
-uf@uju;u"ydf / dK/?.,mé‘ ZJird&m &
4) More than one encircled answers will be considered incorrect.
¥ Lla.l.rru.’.{ 59 -3 A sl S L]
5) Encircle the correct answer as shown in the example:

_‘gﬂbﬁufdf'f L;,Wg)f Gos1s/ L_,u?(‘;
Example: 2 x 3 = :Je

a) 1 b) 2 c) 3 @e

Part-A (Multiple Choice Questions) Time Allowed: 50 Minutes

Instructions: -Twenty five (25) Multiple Choice Questions (MCQs) are given in this part.
Choose answer for each question. Each question carries two marks.

ALy U j.,m(dlr /;.UJZA,)@UV(}@'UI 225Uk o1 ey
Q.No.l. 6060 + 60 =
a) 6020 b) 6120 c) 12060 d) 606060
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Q. No.2.

Q. No.3.

Q. No.4.

Q. No.5.

Q. No.6.

Q.No.7.

Q. No.8.

Q. No.9.

Q. No.10.

50332 -1521 =

a) 59701 b) 51211 c) 48811 d) 35118
(8-2)x4=

a) 5 b) 10 c) 24 d) 30

Aslam purchased 50 toys. He wants to distribute these toys equally among
his 5 friends. How many toys will each friend receive?

?Zuf-}'i.)’/gfuy/z-‘at’qlgl?/(.?ﬁ./,u,/.l/,dui"»52;.‘2.)’;»-;&]2.%501.#4

a) 5 b) 10 c) 45 d).55
HCF of 3, 9 and 12 is: -5;.,}'1;&( 12 51 9 3
a) 3 b) 9 c) 12 d) 14
The LCM of 12 and 30 is: - LIS 30 w1 12
a) 6 b) 42 c) 60 d) 360
—+—=
5 1 1 1
75
—X— =
8 6
2 6 6 35
a) 7 b) 5 c) = d) I
E;g—
15 5
2 1 3 3
) 3 b) 3 9% D5
1.397 - 0.54 =

a) 0.754 b) 0.857 c) 1.937 d) 1.857
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Q. No.11.

Q. No.12.

Q. No.13.

Q. No.14.

Q. No.15.

Q. No.16.

Q. No.17.

Q. No.18.

Q. No.19.

0.5x15=

a) 0.75 b) 7.5 ¢) 0.55 d) 5.5

0.25+100 =

a) 0.0025 b) 0.025 ¢) 2.50 d) 25.0

The pair of unlike decimals is: e B2 5 UL
a) 73.33, 6.443 b) 2.153, 3.265

) 2.676,5.391 d) 45.45 ,54.54

The correct value of 3.0072 up to 2 decimal places is:

ceedernf 95508 3.0072

a) 3.00 b) 3.01 c) 3.07 d) 3.72

5 hours = 54 =
a) 55 minutes = b) 60 minutes =

Cc) 65 minutes = d) 300 minutes =

A car covers a distance of 90 kilometre in one hour. If it moves with same
speed then its distance covered in 6 hours is:

g bl SEt I o G518 e 3 St EE L it 12 K906 L
a) 15 km b) 96 km Cc) 54 km d) 540 km

If the price of 4 pencils is Rs.24 then the price of 6 such pencils is.
—e e U6 228 = d Sutka i

a) Rs:30 &/ b) Rs.34 & C) Rs.36 &/ d) Rs.48 &

If the price of one book is Rs.30 then the price of 5 such books is:
e d SUITs T30 S U L1
a) Rs.6 b) Rs.25 €) Rs.35 d) Rs.150
In the given right angled triangle, the hypotenuse is.
. eItk 55 s
a) AB b) BC
c) AC d) ABC
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Q. No.20. Which figure is a rectangle? e SRS

a)<> b) o/ oL\

Q. No.21. The angle shown in figure is: -9,»).@\41’;‘):‘}"
-t m —>
A o} B

a) acute angle _sJ »b> b) obtuse angle s> >

c) right angle 17 d) straight angle ,,,uf’
Q. No.22. The area of the given figure is: -4.,;1‘}‘"‘&5,

a) 5cm? b) 6 cm?

2cm
c) 10 cm? d)12 cm? o

Q. No.23. If the length of one side of a square is'1cm, then its area is:
- S8U19nlem JUJ(‘}‘..{IL(}/)'I

a) 1cm? b) 2cm? c) 3cm? d) 4 cm?
Q. No.24. Average of numbers 1, 4, 6 and 5 is: -‘LMIJSAIMJ)M
a)l b) 4 c)5 d) 6

Q. No.25. The graph shows the marks obtained by Zainab in her annual examination.
The marks she obtained in Urdu are:

-w/u/d’lau.‘:wf&ﬁ-u,,tfz_Laﬁ/o;/‘,)‘lautul?wuvév‘duﬁ.}l/

60

a) 20 50
b) 30 £ 40
g Y
c) 40 3 ;%\ zz
d) 50 g
o 10

0

Science Maths Urdu English
u;"/l/ UJ.L./ 231 64/(’

Subjects il
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